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1) #BHME: mTI/T7=x/—N

2) BREHN:  FARCESIICRRIEZ (G T 25XN)

3) HER4&W : X FH(Onyzias latipes)

4) REHM: 218/

5 B % IRRRICoX2E

6) £ % ¥: 20B/1RREK(R/1FHRX2ER/1RERX)

7) BRERIREE: 100, 50, 25.0, 12.5, 6.25 mg/L(MEEALL : 20)RUHRBEX

8) REBRKE: 36L/1RBRX(1SL/1EHRX2ER/1RRRX)

9) B B:  16B¥REA /ShERRE

10) &k JR: 2421C

11) z7v=yav: 722U

12) RBETOHEBRMEOLN: ®WEREI/ o~ NST7 44— HPLC)

©,3,7, 14RTU21H B)

m R
1) 21BMOR/NEIERE= 100 mg/L
2) 21BMOR/IMERRE= 50 mg/L
3) 21BEOBKREEARENOEC)=25.0 mg/L
4) 7RMO¥EEITREE(LC50) >100 mg/L
5) 14 B B3 F3T 8 BE(LC50) >100 mg/L
6) 21 B[ 4:E B FE M BE(LC50) >100 mg/L
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